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ELECTROSTATIC POTENTIAL AND CAPACITAN

¢ potentia

negative charge is more as it 1s closer to us t
consequently capacitance is increased.( since ¢= q/V)

If the conductor B is now earthed, then all positive ch
to flow of electrons from carth, Therefore potential of A further

its capacity increases considerably.

arges on it are neutralized iy,
decreases and hey,

uctor increases when an earth,

Why is the capacity of a charged cond
conductor brought near to it? :
brought near a charged conductor 118 poteny,

Ans: When an earthed conductor is
decreases, hence its capacity increases.

Mention the factors on which capacitance of a capacitor depend.

Ans: Capacitance of a capacitor depends on

1) The shape and size of the conductor
2) The separation between the conductors
3 The dielectric medium between the conductors.

Does the capacitance of a conductor depend on the charge on the conductor?

Ans: No
(~» C=Q/V = When Q increases, V also increases such that C remains constant

A solid and hollow spherical conductors have equal radii. Which one has

higher capacitance?
Ans: Capacity of both the conductors is same.
(Capacity of a conductor depends on its radius. As the radius of both solid and

hollow sphetes is same, capacity of both the conductors is same.)

How does capacitance of a conductor vary with the increase of permittivity of

Ans: Capacitance of conductor increases with the increase of permittivity o

medium.

wm the drcuitsymbul of capacitor
Ans: A capacitor is represented by the symbol ~—{}—

0 yonﬂlﬁl*ﬂllbythestatement 'capacitance of a capacitor is 10uF'?
10pC of charge is required to increase the potential differcnce

cﬂ?gﬁm of capacitance 10uF charged to 40V?
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Ans: When a di
disconnected from a cell,
p.d and energy stored decreases.

then capacity

of a charged air capacj;,

the plates
ji) charge stored (j

ic is introduced between
Q. When a dielectric is o Rappent to its () capacitance (

connected to a cell, wh it

ial difference ene : -
mﬁnﬁeﬂ a dic'leém@:)is introduced between the plates of a charged air capac
con:;ected to a cell, then p.d remain constant, whereas capacity, charge and ener,

Q. Two capacitors with capacitances C and C; are charged to potentials V', an
, i \ is the ratio '-_’f their respective charges when they ar;

¥ A 1s: When two capacitnrs"charged to different potentials are connected in parall:
2 common potential difference V is established across the combination. If q, and ¢
be the charges on capacitors of capacitances C, and C; respectively, then q; = C 3
andg =GV
v s e
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Q. f:;‘"’e an expression for capacity of a parallel plate capacitor separated by air
acuum. [Model Paper] [March 2015]

Consider a parallel plate capacitor a4 9

consisting of two identical parallel

- metal plates separated by air or vacuum

~ of absolute permittivity €,. Let A be the

- area of each plate and d be the distance
b between the plates. '
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4. When a l'“t"h‘l re then p.d remin

connected © @ cell or battery,
and energy stored iNCreases.
-2k and 4ul are connected in
combination?

tors of capacity
= e stored in the

parallel across 20y

Q. Two tAp hat ls the energy
supply. What een 4
Anpll: ¢, =20F, G = 4uF, V= 20V - Cp=Cit C, = 6pF
i) { . 6x10° %400
El'lerzysmdin the combination isU="% CpV‘=r_-—E-—-*
=12x10'*=1.2x10‘31

battery. What is the energy stored in the

A 20pF capacitor is connected to 100v

capacitor
Ans: U =-:~cv= =7';2cncm‘”(nm)2 —100x10°T=10""]
larger drop to smaller drop when n

). What is the ratio of energy stored in the
identical charged drops each of energy Us are combined?
of energy Us are combined, then the

Ans: When n identical charged drops each
ratio of energy stored in larger drop to the smaller drop is — = n%
US

Two charged spheres of radii r and 2r are connected together. Compare the

energy stored in them,
Ans: Energy stored in a charged sphere of capacity C is U = %4CV?

When the potentials of the spheres are same U oc C,but C oc R = U oc R

! E-I-g*_R_’:L:l

s AR, . 2r (2
| r:t;l equivullent (effective) capacitor?
Ans: An equivalent capacitor is a single capaci
Ans: A ‘ apa 5 i '
that h a@fmmbinatlon of the c‘.apacitc'rs...g S ek

~ What is meant |
alent h:;;::ﬁ::: :l bi:aﬁon of capacitors? Derive an expression {07
when two capacitors connected in series (0F

citors connected in series). |
itors cc . . [Model paper]
capacitors are said to be in series when they are connected cnd
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